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FudT GiARad Y b 50 9o 9F H 18 Yt dUT30 9o A &
Please make sure that the question paper consists 18 pages and 30 questions printed in it.

UReT UF H &5 3R AU IV s FAR H OTF GaRT 3o R & Ugel o6 W for@n S =nfge|

The code number on the right side of question paper should be written by the candidate on the
front page of the answer sheet.

Rl U &1 3| S T Uge ITHN HATh [oIEelT S|
Before answering a question, must write its serial number.

Teh U & Gl HEN &l Ueh AU gl il
Attempt all parts of a question together.

AT 3R YRl & Trell Goall/deat o7 BIS|

Don’t leave blank page/pages in your answer book.

3 GREdeT & ATAREd 3T IS ofic F7E & STl 37: IaRISAGEAR & fod T o 3o &
T FIC|

Except the answer booklet, no extra sheet will be provided. Write to the point and do not strike
the written answer.

&l 39T VT AN IR 99 W 39T |

Candidates must write their roll numbers on the question paper.

AT AN FN 3R &l F Tgel I GARYT X of b 9o 97 qUT g FE & WET F IWed 3
ey H FI5 T grar TSR o1gl fhdl ST

Before answering the questions, ensure that you have been supplied the correct and the complete
question paper. No complaint in this regard, will be entertained after examination.

General Instructions:

1 This question paper comprises two Parts — A and B. There are 30 questions
in thequestion paper. All questions are compulsory.
2 Part A is compulsory for all candidates.

3 Part B has two options i.e. (1) Analysis of Financial Statements and (2)
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Computerized Accounting. You have to attempt only one of the given

options.

4 Question nos. 1 to 10 and 23 — 27 are very short answer type questions carrying
1 mark each.

5. Question nos. 11 - 15and 28 are questions carrying 2 marks each.

6 Question nos. 16 to 20 and 29 are questions carrying 3 markseach.

7 Question nos. 21, 22 and 30 are questions carrying 5 marks each.

8 There is no overall choice. However, an internal choice has been provided in
2 questions of two marks, 2 questions of three marks and all questions of Five
marks.

GIHT 73T

1. 39 Jo7 97 H gl 1T & - T 3N & 597 g7 A 30 597 &1 FH ToT
sifaard &/

2. HI9T T FHr 3FHIGANT @ fe1T sifaard &1

3. &7aT & H gl fawey & uia (1) AT f@avon @ faeevor ik
(2) FFGCRIPA cidiehat| 9Pl a0 T [@Fedl A & ddol v Fl §ol Fell
&l

4. Jo7 JEgr 1 & 10 3N 23 & 27 dFfeusw go7 &, 9cda & fv 1
3 fFERT & |

5. god F&IT 11 & 15 3R 28 311 o7 3ok g7 &, 9 & folv 2 3
FeiRe &

6. go7 H&AT 16 & 20 3N 29 &g FTIT e 8, 93 & [Av 3 37l FeiRa
&/

7. FoT FE&IT 21, 22 3N 30 &I 3T q97 & 9cda & fo1v 5 He AR &1

8. THIT &7 & Fis faheyq a1 &1 grelita, g 3 & 2 goaf & AT 3dhl & 2
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go7l H 3N gia 3Hl & Tt gedal H vF AR fAFHeq gt faar arar &/

Part- A
HTT-31
(Accounting for_Partnership firms and Companies)
(Tmsiert wat iR Fufaat & v i)

1. In the absence of partnership deed, partners share profit or losses: 1
(A)In the ratio of their capital
(B) In the ratio decided by the court
(C) Equally
(D) In the ratio of time devoted

el ol & 3799 H GrsieR ITH-gliey died &
(31) Goll & 3T A

(&) =T gaRT e gard &

(&) TAA 3Heqard A

(€) ST 3T FAY & I H

2. X, Y and Z have been sharing profits in the ratio of 4:2:1, Z retires. X and Y take Z’s share equally. New
profit ratio will be: 1
(A)S5:2
(B)5:3
(C©)9:5
(D)4:2

X, Y ARz 4:2:1 & 391 # o137 fqToTeT T @ A | Z 37Ghrer TEUT T ol § | Z & Bed
HI X AR Y KRR §Ic A §| 77 18T IS 31T gram:



3. If at the time of admission there is some unrecorded liability it will be: 1
(A)Debited to revaluation account
(B) Credited to revaluation account
(C) Debited to Goodwill account
(D) Credited to partners’ capital accounts

Ifg AT ARIER & YA & THT Fig f@d gridcd & ar 34
(31) GeTediehel T & sfae fohar

(&) YA Wi & $ise fhar

(@) Tarta @rd # sfae fRar

(@) WSIERT & got @rdr 7 & faar arr

4. The rights and responsibilities of partners are given in 1
ATSIGRT & 3SR UF gl dcd H U gid 8|
5. On dissolution of firm, what payment is made first from the personal assets of a partner? 1

BH & HAYA HT g2 # fHdr ArsieR S FfFaard quicdt & & GUH arde fhd fhar Srar
g2

6. To which account is the balance of Profit-Loss Suspense Account closed by transferring it? 1

TH-gIT IEUT @id & AV &l fhd T & gEAdRd Fh &6 T SITdr g7

7. Assertion (A): If there are 8 partners in a firm then no new partner can be admitted into the partnership if
even one partner does not agree to it.
Reason (R): A new partner can be admitted if the majority of the partners agree to his admission. 1

(A)Both (A) and (R) are true and (R) is the correct explanation of statement (A).

(B) Both (A) and (R) are true but statement (R) is not the correct explanation of statement (A).
(C)Both (A) and (R) are false.

(D)(A) is true but (R) is false.

Assertion (A): Ife FdT B3 & 8 HBIGR & dl FEr AT TRER I TSIEGRT A TALT g 6T
ST Thar ¢ I e OieR oY sua fov @gaa A8 § |

Reason (R): Teh #T WIFIGR Pl YA fEAT ST Ahell ¢ Al WISGRT T TEA 38 AT RN
TEAd ¢ |




(31) (A)TUT (R)GIAT T § 3R (R) FYUT (A) T TEl <ITEAT ¢ |

(&) (A)TUT (R) AT TcF § W (R) HYUeT (A) T HET AT 8T ¢ |
(F) @l (A)TAT (R) 3T ¢ |

(@) (A)TT & Red (R)ITF ¢ |

8. Assertion (A): A share is considered as movable property.
Reason (R): In the case of a listed company, a share may be issued or sold on the stock exchange. 1

(A)Both (A) and (R) are true and (R) is the correct explanation of statement (A).

(B) Both (A) and (R) are true but statement (R) is not the correct explanation of statement (A).
(C)Both (A) and (R) are false.

(D) (A) is true but (R) is false

Assertion (A): Teh 372 Pl Tol U AT ST & |
Reason (R): Ueh {od huell &l AT H Ueh 3720 &l Fieh Terdtiol I e AT fashy foham ST
gehaT ¢ |

(37) (A)TUT (R) S T & 3R (R) HUT (A) T Ter SIr&T ¢ |
(§) A)TAT (R)ET HF § e (R) HUA (A) T HET 1T 81 ¢ |

(§) SISt (A) AT (R) 38T § |

(@) A)FT § R (R) 3T ¢ |

9. What is the minimum time limit between two calls? 1

al ATIel & HET welcdd FHAT AT &1 g ?

10. The premium payable on redemption of debentures results in loss for the company. 1

FOMET & oUA W & NEH S & T e g & |

11. What is meant by registered debenture? 2

IaEes Hoaa & =7 JAfAuT & 2

12. A and B are partners in business. Their capitals at the end of the year were X 48000 & X 36000 respectively.
During the year ended march 3152015 A’s drawings and B’s drawings were X 8000 and 12,000



13.

respectively. Profit before charging interest on capital during the year were X 32,000. Calculate interest on
partners’ capital at 10% per annum. 2

A3 BTITERT F AIBIGR g1 a¥ & 3id # 3Tl Yol A2l 48000 3 36000 ATl 31 AT
2015 T FHATCT d¥ & GRTeT A 3TEI0T 3R B 3TEX0T HAU: 8000 IR 12,000 Y| a9 &
eI Goll O SATST o9l & 9gel oT# 32,000 AT| HIHGRT d Galt W 10% 9fd a§ & a3 &
SIS T I0TAT A

OR 3Ydr

If the partners’ capital accounts are fixed where will you record the following items:-
(a) Drawings made by a partner
(b) Salary payable to a partner
(c) Fresh capital introduced by a partner
(d) Share of profit

Ifg ARERT & Il @ R & aF 39 frafaf@a Al 1 wer gafar-
(37) HISIGRT GanT fohT 91T 3{TEIOT
(d) FFER & T ddeT
(H) AIPIER EaRT S9MS IS 78 ol
(&) @msT o fewam
Samy and hunny are partner in a firm. Their capitals were: T 600000 samy and ¥ 400000 hunny. During the

year ended 31% march 2016, the firm earned a profit of ¥ 225000. Find missing values to calculate goodwill
amount of average profit assuming that the normal rate of return is 15%.

Capitalised value of average profit = average profit X 100
Normal Rate Return
= ?2X100 =7
15

Capital Employed = ? + ? = 1000000

Goodwill = Capitalised value of average profit — capital employed

? -1000000

=7 2

A 3R &= F B F AR &1 3 o df: 600000 HT 3R 400000 &A1 31 AT
2016 T FATCT IY & &lTeT, B o X 225000 HT ITH HART| Tg AT gu o Read fr g
e 15% g, 3 omsT Y Tl ARy Fr e A & AT Jed AT @S|




14.

15.

16.

AT oM AT Gollpd Hed = 3ad o1 X 100
AT &Y Rear
=?x 100 =7?

15

SRS 18 Yol = ?+2=1000000
earfa = 3had omer &1 Goligd Ao - Ffad ger
?-1000000

=7

OR 3Ydr

State any two circumstances other than (i) admission of new partner; (ii) retirement of a partner and (iii)
death of a partner, when need for valuation of goodwill of a firm may arise.

UHT ar genv fof@v S« () @R & 999 WX (i) TSGR & aerel Jg0T il adT (jii)
AEIER B Fog & IfARFT 8t B 6T T & FHodiehed HT ATl TSl ¢ |

Kiya and Leela are partner sharing profits in the ratio of 3:2. Kiran was admitted as a new partner with 1/5%
share in the profits and she brought in X 24,000 as her share of goodwill premium that was credited to the
capital account of Kiya and Leela respectively with X 18,000 and X 6000.

Calculate the new profit sharing ratio of Kiya, Lila and Kiran. 2

T3 3R ool 3:2 & g # T dicel aTel ASIER &1 fhor &l ot #H 1/59 RET & Ay
Teh AU ASNER & & F A fohar @7 a1 3N 96 Tarfad NiATH & 3 Bed & &7 7 2
24,000 T TS A T 3T 3R ofrem & Goit @i # HAA: 18,000 HR 6000 & AA
shise fopam aram |

feh3t, irem 3R FoRROT o AT oY TAeTSTal 3eTdTc I TuTl |

What is the basis of calculation of diseased partner’s share of profit from the date of last balance sheet to
the date of his death? 2

Aol faf & Fufd faawor @ fhel @rgier & #cg &1 fAfY a& & 38d oner & Bed &
IMUTAT T T YR & ?

A company purchased a running business from Mahesh for a sum of X 1,50,000 payable as X 1,20,000 in
fully paid equity share of X 10 each and balance in cash. The assets and liabilities consisted of the
following:



plant and machinery X 40,000, stock X 50,000, building X 40,000, cash X 20,000, sundry debtors X 30,000
sundry creditors X 20,000.
Pass necessary journal entries. 3

Teh HUAT o FGY F X1,50,000 T AR W Ueh AT HGAT TIeT, fHHHT 91T < 1,20,000
Ucdeh o qUT $[ITdTeT alel Sfaradl QAR AR AV e A fohar aram| aREuferdt 3R SoeiRar #
frafaf@a afae o

I 3R 7MY 240,000, TSI X 50,000, HA=T X 40,000, Ahe X 20,000, fafaer =gk 230,000
fafaer JsTer < 20,0001

ETF STeTel UfafSear g +Y|

17. Pause Journal Entries for the following transactions in the books of the firm on its dissolution: 3

(A)Bill receivable of X 20,000 discounted with the bank is dishonoured as drawee was declared insolvent
and 30% amount is received in cash from him.

(B) 100 shares of Bajaj Auto Ltd. acquired at a cost of ¥ 3600 had been written off from the books these
were valued at X 12 per share and were divided among partner’s A and B in 2:1.

(C) debtors of T 500000 and provisions for doubtful debts of X 20,000 transferred to a realisation account.
On dissolution bad debts were X 1,00,000 and remaining debtors realised at 30% discount.

B & faEeT W 3FH Gedenl # FEaf@d ool & fov Seiel vfafSear deh:

(U) deh & 3ATT T 220,000 T GIoT el IEdiehed 8 1T § Fhifeh femehd 1 fearferar
¥ Y am arr or AR 3§d 30% TR A6 &7 gred g5 2

(1) 23600 FT AT W JRIET Torrar 3ier fAfAEs & 100 MWRT F sh@Er & ger fear
T AT, SeTehl Hed 12 Ui AW AT 3R 3o¢ 2:1 # WEER U 3N & & i [eniora
fopar aram |

(#Y) 500000 % &eTeR 3 20,000 & HGTE HOT & folv yraemsl Teh a¥ell @id #
TR X 4T 10| fquest 9 372meq HOT 11,00,000 F 3R AV SHASRT AT 30% F& W
8T TR Ir|

18. Kirloskar multimedia Ltd. Purchased machinery costing *1672000. It was agreed that the purchase
consideration be paid by issuing 13%Debentures of X 100 each. Assume debentures are issued (i) at par (ii)
at a premium of 10% and (ii1) at a discount of 5%. Give necessary journal entries. 3

fprefeany AcdHAIZar fafdes & 21672000 dETT & FAMAT WAL svmr—rwmﬁrgéﬁs
Tlle, T GiaweT HT Tl X100 Fedsh & 13% TSTTR SIRY & foham STwem| & o fob fSeer
(i) FAAST W, (ii) 10% NAIH T 3R (i) 5% T W IR T S1d §1 302" Setel glafcear
gl



19.

20.

21.

Ram and Shyam are partners sharing profits and losses in the ratio of 3:2. Ram being non- working partner
contributes X 2000000 as his capital and Shyam being a working partner gets a salary of X 8000 per month.
As per partnership deed interest on capital is paid @ 8% per annum and salary is allowed. Profits before
providing that for year ending 31 march 2015 were % 80,000. Show the distribution of profits. 3

WA AR 2T 3:2% Heqard #F oot 3R g1 dfeat arer AR &1 T N-FHER AR g
& AT Y Yol & &I 3 X 2000000 1 AIMEH ST § 3 2ATH H HHAGGH ABGH g &

$ROT i ATE X 8000 T el AT &1 ASERT Tdold & ITER Yol W 8% Ul a¥ &I X &
SATST T AT [T ST & 3 dceT 1 36TATT &1 31 AT 2015 &1 AT §lol drel Y &

fIT ST YT el ¥ Ugel oA X 80,000 AT| T & AI0T fe@md|

OR 3Ydr

Write the difference between charge against profit and appropriation out of profits.

AT I YHR JAT ol FT §carr H R f@w |

A, B and C were partners in a firm sharing profits in 3:2:1 ratio. The firm closes its books on 31 march
every year. B died on 12" June 2017. On B’s death the goodwill of the firm was valued at T 60,000. On B’s
death his share in the profits of the firm till the time of his death was to be calculated on the basis of
previous year’s profit which was X 1,50,000. Calculate B’s share in the profit of the firm. Pass necessary
journal entries for the treatment of goodwill and B’s share of profit at the time of his death. 3

A B3R CTh B H AER & 3R oM & 3:2:1% I H Sic I F| S g Al 31 A
Y A TEAH &6 AL Gl gl 1230 2017 T & H HF & M| B B Hog W HH H T
% Hed 60,000 UT| B AT Hcg W, 3HH Hog & AT deh B & ol H 3qh BEY & 07T
oo a¥ & a1 & IMUR W FT ST A S R 21,50,000 AT| ®F & 1T F BF ged &r
IOEAT Y| IR Hog & FHT TAMA AR B & o1 & REA & 3TaR & AT 3Maeaysh Siefel
giafsear aikd 1|

Following is the balance sheet of A and B who are sharing profits and losses in the ratio of 2:1.
Balance sheet

Liabilities Amount Assets Amount

®) )

Creditors 18000 Cash 20000

Profit & Loss A/C 12000 Debtors 35000

Capitals: Less: Provision 3500 31500

A 45000 Stock 22000

B 30000 75000 Fixtures 7500

Goodwill 24000

105000 105000




New partner C is admitted for 1/5% share in profits who brings Z 30000 as his capital on the following

terms:

(1) Goodwill of the firm is to be valued at two year purchase of the average profits of the last 3 years
which were X 40000, X 15000 and X 35000. No goodwill account is to be remain in the books of the
new firm.

(i1) Stock is to be discounted at 10% and provision for doubtful debts be reduced by X 1000.

(1)  Fixtures are X 3200.

(iv)  Anbill for ¥ 500 foe electric charges has been omitted to be recorded.
v) There is a claim against the firm for damages amounting to X 1500. This will have to be paid in

future.

Prepare Revaluation A/c and other necessary ledger account of the new firm.

fFafaf@d A 3R B 1 doi M § ST 2.1 3egara A et 3R g A= W B

GEEECE]
AP afr () gFafaar A ()
Aerere 18000 JFs 20000
12000 aefer 35000
ﬁlaﬁ-gli?‘ il geT: TdTetel 3500 31500
qail: i 22000
A 45000 o
B 30000 75000 7500
Ty 24000
105000 105000

AT WEER CH O # 1/5d e & v vawr fGar = g, o Feafaf@a adft w3l g6t &
¥ # 30000 T &

(i) B3 I EITA &1 Aol Toel 3 Tut & AT o1 T o del A @l W R = § S

f 240000, % 15000 3R 235000 | 7S B I YEdh H IS TIMA Wil Al ol AT
(ii) TeTeh oY 10% 1 ge & Sl iR dfeaer ROl & Jraere #1000 T9F H& fhar SmeaT|

(iii) ek 3200 &l

(iv) X500 & faegd ek & et 1 Repls fohw foar oI5 fam amm &

(v) B & faveer 1500 T &1 7 arar &1 SHHT I HITST 7 e gram|

S B HT Lidediehel AT 3R 3T HEeTh TRl IR |

OR 3Ydr

Why are assets and liabilities revalued when a new partner enters the firm? What entries are made in the
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following situations when the assets and liabilities are revalued at the time of admission of a new partner in a

partnership firm?

(1) When the value of liabilities increases
(i) When the value of assets decreases
(iii) In case of profit or loss in revaluation account
fordll AT ASIER & B & YA el W HARKAT 3N TRl &1 Gof: Hediohel FT foham ST & ?
Tsh WIS’ BH H AU AEIGR & YA & AT FFqiaal AR gfdeal & Il Hedrehed ael W
e feufaal & sar yfafsear $r o § 2
(i) aTRcar &1 Hed oo T
(i) HYRHAT T HeT HA gl W

(iii) YeTsledTehel W # o137 AT §IfeY gl TR

22. AB Ltd. invites application for 75,000 equities of X 100 each at premium of X 30 per share. The amount was
payable as follows:
on application and allotment - X 85 per share (including premium)
on first and final call- the balance amount.
Application for 1,27,500 shares were received. Application for 27,500 shares were rejected and shares were
allotted on pro-rata basis to remaining applicants. Excess money received on application and allotment was
adjusted towards sum due on first and final call. The calls were made. A shareholder who applied for 1000
shares, failed to pay the first and final call money. His share were forfeited. All the forfeited shares were
reissued at X 150 per share fully paid up.
Pass necessary journal entries for the above transactions in the books of AB Ltd. 5

el fAfAes 230 gfd PR & NfATT W 2100 $r 75,000 sfFar & fOU AT 3MEFT Far
gl Ui g7 YR ST oA

3TdesT 3R 3ded oW - 285 ufd R (NfATs Tfgq)

JUA AR JFTAH ITdelT G- AW A

1,27,500 2RI & T 3dest gred gul 27,500 AR & AT 3MdeaT @R FT aAr amm 3R
AT 3Tl HI HIdTich 3MUR W AT Iafed fhT 17| 3dest 3R 3Hdee ) ared
faRea gaf &1 gg#7 3R 3fAF IJrger o) 7 iy & gafaa Far o ar o1 Irasne
AT o 318 | Toh RRYURS ST 1000 MWRT & AT 3MdesT fohar 4T, ag gger 3R 3ifas
ITIAT TR AT ST Fel H fAHel QT 3eToh MR e X o 3| Fea fovd 717 Tl
RRT @l 150 i I GOV 7Tl WX Yo SIRT Y e aram|

TeT fafAes 1 gt & 3WTd dedcad & AU 3aedes Sod gfafsedr aika &

11



23.

24.

25.

26.

OR 3Ydr

What is primary expenditure? Write four examples of this.

e O &7 § ? 58 IR 36160 iU |

Part—B
AT-9
(Analysis of Financial statements)

o faavont &1 feawor

Give any one characteristics of statement of profit and loss. 1

-8 [AaRoT T IS v [AVar QT |

Financial statements include: 1
(A)Cash flow statement

(B) Explanatory notes

(C) Statement of profit & lass

(D) All of these

focr faaon & afFafoa § -
(31) Qg YaTg faazoT
() TISEFIOT Al
(F) ere-grfer faavor
(@) asfr

In the cash flow statement, the balance of marketable securities is shown under . 1

A3 vaTe AT & o A gfefadt & aw & ¥ 3iada @ Smar ¢ |

Assertion: Interest coverage ratio is a measure of the ability to pay interest on long-term loans.
Reason : Interest coverage ratio establishes the relationship between the profit available to pay interest and
the interest to be paid. 1

(A)Both (A) and (R) are true and (R) is the correct explanation of statement (A).

(B) Both (A) and (R) are true but statement (R) is not the correct explanation of statement (A).
(C)Both (A) and (R) are false.

(D)(A) is true but (R) is false.

12



Assertion: Tl TdIU] 3101‘4Id ErdepreleT 3|€U'IT W TS ol FT &JHAT &1 AT % |
Reason : STTST 3TaRUT 3e]Uld STl &4 & T 3ucists omer 3R YT ST arel STl H Heer
TG A § |

(37) (A)dUT (R)SlAT TF & 3R (R) HUA (A) T HEl SATEAT ¢ |

(§) (A)TYUT (R)elT T § W (R) YT (A) T HET IEAT =T8T ¢ |

(@) St (A)aAT (R) 3T ¥ |

(@) (A) T & W (R) I ET & |

27. Patents and copyrights fall under the category of: 1
(A)Current assets
(B) Liquid assets
(C) Intangible assets
(D)None of above

9é¢eH g HraRsed fFg Aol & 3igdT 39 §

(37)are], HEafd
(d) Ol FFIRT
(#) 3HT FFafT
@) 3RFd & @ A AL |

28. Write two limitations of financial statement. 2

T faerott $r ar @A faf@u |

29. Cost of Revenue from operations =X 200000
Inventory Turnover Ratio = 8 times
Inventory in the beginning is 1.5 Times more than the inventory at the end.
Calculate values of opening and closing inventory. 3

ATl & TSIET T dIeTd = X 200000

Tieh 3Tacl Ul = 8 =Tl
yRfEsE Tgfaan, sifas wiaar & 1.5 T 3fe g
URTFeh Glaar 3R 3HTdd widar & #Fedt &l IuEr H|

OR 3Ydr

Write the objectives of Ratio analysis.

3Tt faRelvor & 3egey fafQw |

13



30. Following is the balance sheet of K.K. Ltd. As at 31.03.2015

Balance sheet

Particular Note 31.03.2015 | 31.03.2014
no. ) 9]
L. Equity and Liabilities
(1) Shareholder’s fund
(a) Share capital 1000000 800000
(b) Reserve and surplus 400000 (100000)
(2) Non-current Liabilities 1
(a) Long Term borrowings 900000 1000000
(3) Current Liabilities 2
(a) Short term borrowings 3 300000 100000
(b) Short term provisions 4 140000 180000
Total 2740000 1980000
II. Assets
(1) Non-current Assets
(a) Fixed Assets
(1) Tangible 5 2006000 1440000
(i1) Intangible 6 40000 60000
(b) Non-current Investment 200000 150000
(2) Current Assets
(a) Current Investment 100000 120000
(b) inventories 214000 90000
(c) Cash and Cash Equivalents 180000 120000
Total 2740000 1980000
Notes to Accounts:
Note | Particulars 31.03.2015 | 31.03.2014
no. % %
1 Reserve and surplus 400000 (100000)
(surplus i.e. Balance in statement of Profit and 400000 (100000)
Loss)
2 Long term borrowings: 900000 1000000
12% Debentures 900000 1000000
3 Short term borrowings: 300000 100000
Bank overdraft 300000 100000
4 Short term provisions: 140000 180000
Provision for tax 140000 180000
5 Tangible Assets: 2406000 1642000
Machinery (400000) | (202000)
Accumulated Depreciations 2006000 1440000
6 Intangible Assets: 40000 60000
Goodwill 40000 60000
7 Inventories: 214000 90000
Stock in trade 214000 90000

14




Additional information:
12% Debenture were redeemed on 31.03.2015
Tax X 140000 was paid during the year.

(@
(i)

Prepare cash flow statement.

sheh faffies & deld efie 31.03.2015 % 3TER 38 YN &

Tufa fJavor
e — - 31.03.2015 | 31.03.2014
(R) (R)
AT
I. AT 3R SaaeRar
(1) Q'qw".""; FT AT 1000000 | 800000
(T) AT it
(Eﬁ') IRTET 3 3fey 1 400000 (100000)
(2) 3R-=mey, AeTETRAT 900000 | 1000000
(v) Erdeprfoe 3UR 5
(3) I SRR 300000 100000
(T) 3feuraiy 38R 3
(gﬁ') a;qamﬁq; SIEOIG] 4 140000 180000
2740000 | 1980000
ET
. g9y
(1) I-are aREafT
(T) 3ol 99T
(i) 7 5 2006000 1440000
(i) 3 6 40000 60000
(sfY) IR-are] TATr 200000 150000
(2) =T, wafer
(@) are foraer 100000 120000
(s) Tgfaar
(&) g 3R Adhe THFET 214000 90000
180000 120000
2740000 1980000
gl & fav A
Note e — 31.03.2015 | 31.03.2014
no. X X
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1 IRfaa 3T rfew
(3R el omer AR grfel & faawor & Ffore)
deaifas IUR:
2 12% fReR
o rafer & 3ur:
3 d& ey
eqaf YIgene:
4 $T I YT
qd qufar:
c ey
aRa Aegerd
) e |afer:
ag
7 Tefadr:
MU bl ‘j;oi Hl el

400000 (100000)
400000 (100000)
900000 1000000
900000 1000000
300000 100000
300000 100000
140000 180000
140000 180000
2406000 1642000
(400000) (202000)
2006000 1440000
40000 60000
40000 60000
214000 90000
214000 90000

ARed SiTeTerr:
(i) 12% f3sR 31.03.2015 &I f=AraT 11
(i) ¥ % aNreT e 140000 &1 $pTamel fomam arm|
el FaTg faaRoT AR .

OR 3Ydr

Write five limitation of cash flow statement.

Ues varg [AaRer i g JAT faf@u |

Part—B

(Computerised Accounting)
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23. what is data processing? 1

3reT WrafdeT FaT | ?

24. The note kept in the cells is called . 1
Tl F T 9118 918 fevqoft 7 Fga § |

25. When navigating in a work book, which command is used to move to the beginning of the current row?
1

(A) [Ctrl]+[Home]

(B) [Page Up]

(C) [Home]

(D) [Ctrl]+[Backspace]

el IR 7 AT I THY, I IR H I F T F AT fhF FATS @
39teT fohaT SITar 87

(31) [Ctrl]+[8YH]

(@) [F7 IR

@) [&1#]

(@) [Ctri)+[Shead]

26. Which function results can be displayed in Auto Calculate? 1
(A) SUM and AVERAGE
(B) MAX and LOOK
(C) LABEL and AVERAGE
(D) MIN and BLANK

3ifer Forpele H i @ B IROMA Jefia v o7 Fhd 82
(37) =T 3R 3

(&) FR¥Saa IR c@r

(&) el 3R 3
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(@) =geTaH 3 R
27. What category of functions is used in this formula:=PMT(D11/15,D12,D 12,5) 1
(A) Logical
(B) Financial
(C) Payment
(D) Statistical
SH §F # fhd Aol & HerleT & 3Urer fhar Sirdr §:=PMT(D11/15,012,D 12,5)
(37) drfhe
(§) fadT
() It
(&) HifeahT
28. State any two requirements which should be considered before making an investing decision to choose

between ‘Desktop database’ or ‘Server database’. 2

AS &I TITHFATT gdU ol I STl eaq AT TR 3T’ & ST IS el & v
faer Aoy o & ggel AR fhar S arfigu|

29. State the features of Computerized Accounting system. 3

FFGENSHd AWiheT JuTTell T [FATAT Fasd |

[

OR Y41
Describe the use of spreadsheets in accounting.
@ H TosAe & 3UFNRT T JuT AL |

30. Describe two basic methods of charging depreciation. Differentiate between both of them. 5

HeTg agelal & a1 gAardr faftat &1 avie w1 gt & 3R AL

OR 3 Ydar

What do you understand by computerized accounting system? Mention any three benefits of this.

FFISFHA o GT JOTell & AT FAT FAST & | $HA Pl dled olH JAT |
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